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r + 4s = 4 or 2r-2s = -1      or equivalent 
 
Accept any method of solving simultaneous equation  
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a)   AD⃗⃗⃗⃗  ⃗ = AB⃗⃗⃗⃗  ⃗ +  BC⃗⃗⃗⃗  ⃗ +  CD⃗⃗⃗⃗  ⃗ 
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(4.6 × 3) + (5.1 × 5) + (5.6 × 5) + (6.1 × 10) + (6.6 × 12) + (7.1 × 5)    or   

(4.6 × 2) + (5.1 × 7) + (5.6 × 5) + (6.1 × 12) + (6.6 × 8) + (7.1 × 6) 

 

(4.6×3)+(5.1×5)+(5.6×5)+(6.1×10)+(6.6×12)+(7.1×5)

40
       or      

(4.6×2)+(5.1×7)+(5.6×5)+(6.1×12)+(6.6×8)+(7.1×6)

40
 

 

6.075      or      6.0375 

 

(3 × 4.62) + (5 × 5.12) + (5 × 5.62) + (10 × 6.12) + (12 × 6.62) + (7.12 × 5)      or   

 (2 × 4.62) + (7 × 5.12) + (5 × 5.62) + (12 × 6.12) + (8 × 6.62) + (7.12 × 6) 

 

√
(3×4.62)+(5×5.12)+(5×5.62)+(10×6.12)+(12×6.62)+(7.12×5)
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√
(2×4.62)+(7×5.12)+(5×5.62)+(12×6.12)+(8×6.62)+(7.12×6)
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0.7242     or    0.7175 
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 (b)  Refer graph paper 

      Plot log10 y against x  with correct axes, uniform scales and  

      at least one point.  

      6 points plotted correctly  

      Line of best fit  
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 (a)r =  x – 5   or     h = x – 2  

V = π (x – 5)2 (x – 2)  or equivalent 
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              10x +  8 y  ≤ 420 

                 𝑥 ≤ 2𝑦  

N1 

N1 

N1 

3  

 

 

 

 

 

 

 

 

 

10 

(b)Refer to graph   paper 

          One *straight line  drawn correctly                                  

          All * straight line   drawn correctly                                                               

          Correct region     
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